	In Augustus and His Smile…
	In my story, I will change this to:

	There is a tiger called Augustus.
	There is a 
___________________________

 called _________________________________________

	The tiger (Augustus) is sad because he has lost his smile.
	The ______________________ 

is ____________________________ 

because they have lost their 

____________________________


	Augustus goes on a journey to find his smile. He goes to the trees, the mountains, the desert and dances in the rain. 
	
________________________________

goes on a journey to find their ________________________________.

They go to _________________________________________________

	Augustus finds his smile! He realises he just has to do fun activities to get his smile back.
	
____________________________________

finds their
_____________________________________!

All they have to do is ________________________________
to get it back.



